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61- She turned down the radio ................. disturb her roommate.
1) so that 2) in order that 3)soas notto 4) for not
62- | left home early ............c......... | could catch the first bus.
1) although 2) while 3)so as to 4) so that
63- As a result of earthquake, those ................. cups were rattling on the table.
1) small white chinese 2) white chinese small
3) small chinese white 4) chinese white small
64- At some pointin the .................. future, | would like to have my own house.
1) dense 2) ancient 3) distant 4) former
65- A round hole in the ground made by something that has fallen on it or by an explosion is called a .................

1) canal 2) valley 3) hill 4) crater



66- A ........... is an instrumant that magnifies, or makes larger, small and tiny objects.

1) telescope 2) microscope 3) lense 4) feature
67- This house is located on a hill. You can use it as a base for ........... into the mountains around.
1) voyagers 2) explosions 3) explorations 4) inventions
68- Having a good knowledge of math, my father ..................... accounts in an office.

1) keeps 2) makes 3) takes 4) gets

69- When I turned the lights off, the ..................... baby started crying loudly.

1) surprised 2) amused 3) frightened 4) excited
Cloze test :

The earth seems big to us, but it is only one little thing floating along with countless other particles in spaces. Our sun is
only a particle in space. It is only a large ...... 70...... at the edge of the Milky way, our galaxy. Nine small planets turn round
it in fixed order. There are many stars larger and ....... 71...... than the sun. There are also many millions of galaxies in the
...72... as big as, or bigger than, the Milky way. Each galaxy is made ....... 73.... millions of stars and satellites. There are great
distances between our galaxy and another.

70- 1)star 2) planet 3) world 4) universe
71- 1) brighter 2) colder 3) darker 4) lighter
72- 1) world 2) universe 3) sky 4) distance
73- 1) up of 2) from 3) into 4) out of
Reading 1:

Some people think space exploration costs too much and it is not so necessary, they say society is more in need of social
welfare programs than of space programs. People need food, house, job, education — bread and butter necessities. Space
programs won’t provide these basic essentials of life. We have people who don’t have enough to eat, a place to live, who
don’t have money to get a good education, and nothing is more important than people in.a country.

74- What is the main idea of the passage?

1) Supplying people’s basic needs is more important than space programs.

2) A country has to think about future.

3) Social programs cannot meet people’s immediate needs.

4) Space flights can provide people with more comfortable life.

75- According to the text the improvement of the living conditions in aisociety is based on ........

1) providing all the people with suitable jobs. 2) space exploration.

3) social welfare programs 4) good education

76- Which statement is not true?

1) Some people are against the space programs.

2) The space program costs too much.

3) The existing social welfare programs are good enough.

4) There are people who don’t have enough to eat.

Reading 2:

A famous writer who was visiting Japan was invited to give a lecture at a university to a large group of students. As most
of them could not understand spoken English he had to have a translator.

During his lecture he told an amusing story which went on for rather a long time. At last he stopped to let the translator
translate it into Japanese, and was very surprised when the man did this in a few seconds, after which all students laughed
loudly.
After the lecture, the writer thanked the translator for his good work and then said to him,” Now please tell me how you
translated that long story of mine into such a short Japaness one.”

“ 1 didn’t tell the story at all”, the translator answered with a smile, “I just said, the respectful lecturer has just told a
funny story. You willall laugh please.”

77- The famous writer had to ask a translator to help him, because ............

1) he could not speak Japanese 2) he did not Know English.

3) the'students didn’t understand Japanese 4) his lecture was not in English.
78- The word “ this” in line 6 refers to ...........

1) being surprised 2) translating the story.

3) letting him translate 4) stopping the lecture

79- After his long story, the speaker was surprised , because the translator ...........

1) told the students a different story. 2) didn’t understand his story.

3) gave a very short translation of 4) laughed loudly for few seconds.
80- The students laughed because ..............

1) the long story was amusing. 2) they enjoyed the story.

3) the translator asked them to . 4) the translator was very funny.





